EARAZROREIERT — 2 N—XBISY —F 201258878 () ARIEFNSH

mﬂﬁ%—ﬂﬁ C2mE (w8 | mEmml - |5 ) w8
[x&<£] 1 % :1,000,000 @ ~ 23 :300,000 ™ ~ 33 :170,000 @ ~ 4 7% :130,000 @ ~ 5 7 :100,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R s 4 | WEF 1:38.9 2-2-2-1 |40.8| — 5 451 | REFGR= GEAN)
1 4| L FN—F 54.0 =) o) | B) 22
X449 Ry B:Ly Rjqr—F+2X AFRO4%E
o S 4 | FHEfE— 1:39. -8-8-7 | 40. — JIASRE (GAFn)
olglg| KA L—> # e (349)6 8-8-8 0.0 4 (5+o17) ﬁm;krg
R:d—IkAfA— B:EV/—Y—X g 1E
Sy = it o4 | BBXE 1:39.7 1-1-1-2 | 41.6| — 3 442 | NAARE (AFN)
3011 ILAH>731 54.?,3 (3/4) (+4) [ R e
R:TF7vI4K—0 BIAIHALUR Wi i
S S S MEEA : -3-3- - EREHPB (H)
slglg| o x3UA 7 0 1(.33/94.)8 3-3-3-4 | 41.5 8 ;1:352) L
L2 T77—917 B:RAx70ZX0-FK ARXRETa—-T7—L
- - fHaAEsE 140. —6-6- . — FERRE (J1118)
5 6 RKY—LBT57IL # 5 i 1(430)4 6-6-6-3 | 41.5 1 (5_073) b
LiwiNnNy&>h7x Birqa—FK—-IL EviLy RT7—L4
2 4 5 | EEEF 1:40.6 5-5-4-5 | 42.0| — 2 450 | Wiyt (efn)
6l7|7| F~bxUT= 56.0 1) o) | EHH—B
R:AvLH—(4>F—7 B:IZAIEZX BL BA
s s . 3 : —-7-7- - FE—% (&)
7l5l5 | T TFL T E-R i 5 Bl (12.411/.21> 7-7-7-8 | 41.8 7 <4+920) e
Zond Bk /LA p3itet
S Ao 4t 4 | DOEEFOME 1:41.4 4-4-5-6 | 42.7| — 6 448 | NIB= (@70
8 2| PSFT4=U7F 0 (1 1/2) 4 | R TF-ZbEVa>
R:F15> 481 B:vI—T7 FRT7— L
PN RRRE 143 -9-9- . — EH—RI (GEFn)
9 gl L—EXTFY it 4 z (19{(35) 9-9-9-9 |42.2 9 :1355) i
LTI RATZ4 N BV IXAFY ZVF IT— L
® I—F—@EBIERL
13—7F— 1,4,9,2,7,6,5,8,3
Ao=5"= 1,4,9,2,7,6,5,8,3
T =35r= 1,4,9,7,2,6,5,8,3
43—+ — 4,1,6,9,7,2,8,5,3
[ RN
B 4 1,080M 794K 4-8 1,020M & 4-8 2,010M &R 1-4-8 2,620/
# B 4 1909 1-4 410 B 4-8 6,480 EE 4-8-1 28,920/
8 180H4 1-8 420M B = 4-8 2,330M
1 1509 B H 4-8 6,240

ABICOVWTRDTEEERROODE. TR LIV,




